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Note : Answer all the three questions. All questions carry 

equal weightage. 

1. Answer the following question in about 

1000 words : 

Describe the characteristics of a well integrated 

personality. What measures should a teacher 

adopt for development of an integrated 

personality of the child ? 

OR 

Discuss the positive and negative influences of 

mass media on the physical, mental and 

emotional development of children. 
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2. Answer the following question in about 
1000 words : 

Describe the characteristics and related 
problems of gifted and talented children. What is 
the role of a teacher in guiding children with 
special abilities ? 

OR 

Discuss the problems associated with emotional 
development of children. Suggest some methods 
a teacher can adopt to resolve these problems. 

3. Answer any four of the following questions in 

about 250 words each : 

(a) Describe the effects of play deprivation on a 
child's personality. 

(b) Describe the characteristics and problems of 
slow learners. 

(c) Discuss the problems associated with 
gender-discrimination in schools. 

(d) Differentiate between 	effective 	and 
ineffective communication, with examples. 

(e) Discuss how deprivation leads to school 
failure. 

(f) Discuss the criteria for selecting Books, 
Television and Radio programmes for 
children. 
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